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1. BEFEIRA
NEEWRA 0 0 0
OE£E (ER) 0 0
QEM&E 0 0
2)B|EEFA 146,000 168,000 -22,000
@ EITEIRA 146,000 168,000 -22,000
DURDTY L 0 0
Hffiez+— 40,000 48,000 -8,000
PZ aam AN 0 0
MER 56,000 70,000 -14,000
B 0 0
ZTOMEEITE 50,000 50,000 0
AR ETRIESE S ULA 0 0
ZDih 0 0
@ERBEIA 0 0 0
HARMIURA 0 0
Z Dt 0 0
DbEFMSDRAE 750,656 759,104 -8,448
FRFEHIEESBIRIIA 0 0
AERfTE 750,656 759,104 -8,448
SBYRRRES 0 0
5)FfTRUIRA 0 0 0
FTEIA 0 0
6)FEURA 0 0 0
ZHEFE 0 0
HUTA 0 0
EEFHRAG(A) 896,656 927,104 -30,448
2. BEEHIWH
NEXE 580,500 549,000 31,500
QLEEE%E 0 0
@TETEEX 580,500 549,000 31,500
MPUROY L 0 0
@iz — 20,000 28,000 -8,000
) 7+—3F L 0 0
RS 133,500 39,500 94,000
(B)EBH = 132,000 128,500 3,500
B)YZ D E{TE 295,000 353,000 -58,000
OL:1EES 0 0
QBHEMIHMREEERSTH 0 0
D EE~ DB HE 14,600 12,000 2,600
KEsEBEN 0 0
AEFENIEE 14,600 12,000 2,600
N—BEEE 399,500 471,000 -71,500
EHEES 0 0
Huie 0 0
=& 40,000 10,000 30,000
WeFERE 0 120,000 -120,000
REXBE 125,000 130,000 -5,000
BIEERE 10,000 10,000 0
EK-EREE 0 0
EHEERE 0 2,000 -2,000
RIS AE 4,000 4,000 0
HERMEAZE 0 0
RIGE 95,000 80,000 15,000
EETEEERRE) 110,000 100,000 10,000
EHERESR 5,000 10,000 -5,000
FHFHeH 500 1,000 -500
HE 10,000 4,000 6,000
HE 5,000 4,000 1,000
FlEE 5,000 5,000
BEEFEZHE(B) 994,600 1,032,000 —37,400
FEFTFHRNZELHE(C)=(A)—(B) -97,944 -104,896 6,952
I BEFEIRZOE
1. \BEFEUA
HEESIEIA
BHNMTHENRESEESIRARNRAGHS) 0 110000 -110000
& FEEINAGT (D) 0 110,000 -110,000
2 HEEHIE
BEESBAZE
BHEMIEMREEERSBRATHGEHS) 0 0
BElE&EEmMSI L 0 0
BEFHIHE(E) 0 0 0
BEFEFINTELE(F)=(D)—(E) 0 110,000 -110,000
LHANZ EEE(G) =(C)+(F) -97,944 5,104 -103,048
BTERARRIN Z =58 (H) 194,386 133,185 61,201
REAIEIIR T ZEE (1) = (G) +(H) 96,442 138,289 -41,847
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